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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each. Section - B comprises of 8 questions of
2 marks each. Section - C comprises of 10 questions of 3 marks each and Section - D
comprises of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-“A’

Question numbers 1 to 10 carry one mark each :
Which of the following numbers has terminating decimal expansion ?

A 37 21 17 89
(A) 15 (B) 2356 © 19 (D) 2232

The value of p for which the polynomial x3+4x?—px + 8 is exactly divisible by (x—2) is
(A) 0O B) 3 < 5 (D) 16

AABC and APQR are similar triangles such that £ A=32° and ZR=65° then /B is
(A) 83° (B) 32° (C) 65° (D) 97°

In fig. 1, the value of the median of the data using the graph of less than ogive and more than
ogiveis
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Figure 1
(A) 5 (B) 40

If 6 =45°, the value of cosec?0 is

1
a5 B) 1

sin (60°+ 0) —cos (30°—0) is equal to
(A) 2cosH (B) 2sin@
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The [HCF X LCM] for the numbers 50 and 20 is
(A) 10 (B) 100 (C) 1000 (D) 50

The value of k for which the pair of linear equations 4x+6y—1=0 and 2x+ky—7=0
represents parallel lines is

(A) k=3 (B) k=2

If sinA +sin2A =1, then the value of cos2A + cos?A is
A) 2 ®) 1 2

The value of [(secA +tanA) (1—sinA)] is equal to
(A) tanZA (B) sin?A (C) cosA

SECTION - ‘B’

Question numbers 11 to 18 carry 2marks each.

Find a quadratic polynomial with zeroes 3+ /2 and 3—+/2.

In figure 2, ABCD is a parallelogram. Find the values of x and v.

Figure 2

If sec4A =cosec (A —20°) where 4A is an acute angle, find the value of A.
OR

5s8in® —3cos 0O
5sin® +2cos 0’

If 5 tan6=4, find the value of
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14. In figure 3, PQ||CD and PR||CB. Prove tha

C

A
Figure 3

15. In figure 4, two triangles ABC and DBC are on the same base BC in which £ A= ZD=90°
If CA and BD meet each other at E, show that AE X CE=BE X DE.

A D

Figure 4

Check whether 6™ can end with the digit 0 for any natural number n ?

Find the mean of the following frequency distribution :

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50

Frequency 8 12 10 11 9

Find the mode of the following data :

Class 0-20 | 20-40 | 40-60

Frequency 15 6 18
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SECTION -‘C’

Question number 19 to 28 carry 3 marks each.

Prove that /7 is an irrational number.
OR

Prove that 3+./5 is an irrational number.

Use Euclid’s division algorithm to find the HCF of 10224 and 9648.
If a and B are zeroes of the quadratic polynomial x%— 6x + a; find the value of ‘a” if 3a+23=20.

Solve for x and y.

OR

The sum of the numerator and the denominator of a fraction is 8. If 3 is added to both the

3
numerator and the denominator, the fraction becoms 1 Find the fraction.

tan 6 — cot 0
Prove that —————— = tan?0 — cot>0 .
sin 6 cos 0

In figure 5, AABC is right angled at B, BC=7cm and AC—AB=1cm. Find the value of
cosA —sinA.

A

—
B

Figure 5
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25. In figure 6, P and Q are the midpoints of the sides CA and CB respectively of AABC right
angled at C. Prove that 4 (AQ?+ BP?)=5AB2.

A

Q
Figure 6

The diagonals of a trapezium ABCD with AB|| DC intersect each other at point O. If AB=2CD,
find the ratio of the areas of triangles AOB and COD.

The mean of the following frequency distribution is 50. Find the value of p.

Classes 0-20 | 20-40 | 40-60 | 60 -80 |80-100

Frequency 17 28 32 p 19

Compute the median for the following cumulative frequency distribution :

Weight in |less than|less than [less than |less than|less than|less than [less than |less than
(kg) 38 40 42 44 46 48 50 52

Number of
14 28 32 35
students

OR

Find the missing frequencies in the following frequency distribution table, if N=100 and median
is 32.

Marks obtained

No. of Students
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SECTION - ‘D’

Question number 29 to 34 carry 4 marks each.
Divide 30x#+ 11x3 —82x2—12x + 48 by (3x?+2x —4) and verify the result by division
algorithm.

If a line is drawn parallel to one side of a triangle to intersect the other two sides in distinct
points, prove that the other two sides are divided in the same ratio.

OR
Prove that in a triangle if the square of one side is equal to the sum of the squares of the other
two side then the angle opposite to the first side is a right angle.

Without using trigonometric tables, evaluate the following :

sec 37°

————— +2cot 15° cot25° cotd5° cot75° cot65°- 3 (sin218°+sin272°)
cosec b3

OR

tan 0 cot 0
+

Prove that: 1 —coto 1 —tan ® =1+ secH cosech.

If 2cosd —sin®=x and cos® —3sind=y. Prove that 2x?+y?—2xy=5.

Check graphically whether the pair of linear equations 4x—y —8=0 and 2x—3y+6=0 is
consistent. Also, find the vertices of the triangle formed by these lines with the x-axis.

The following table shows the ages of 100 persons of a locality.

Age (yrs) Number of persons

0-10 5

10-20 15

20 -30 20

30 - 40 23

40 - 50 17

50 - 60

60 - 70
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QUe-27
Y99 &1 1 | 10 TAF 9T 1 3k T T
freafafed § 9 =1F 9 =& &1 <9Mdd 91 9id 8 ?

A 37 21 c 17 89
(A) 15 (B) 2356 ©) 19 (D) 2232

p &1 a8 T 9 AT 5598 3 + 462 — px + 8, qoiaqan fawifsd e/ (x—2) 9, %
(A) 0 B) 3 ©) 5 D) 16

AABC 92T APQR 39 ¥R & T0&Y 39« € fF £ A=32°Te1 L R=65°%, @ LB I AN ¢ :
(A) 83° (B) 32° (C) 65° (D) 97°

AHfa 1 ¥, femm T “‘F 5 gHR' F 9RO 99 ‘Y afusd TR F IR F e ¥ eAlwel #
e ©

/

80
70
60
50
40
30
20
10

1 T T 1
o 5 10 15 20 25 30 35

AR —
ATRfd-1

(A) (B) 40

Ife 9 =45° %, T cosec0 FHT M & :

1
» T B) 1
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sin (60°+ 0) —cos (30° —8) ST T
(A) 2cosH (B) 2sin®

HeAet 50 991 60 1 [HCF X LCM] ® :
(A) 10 (B) 100 (C) 1000 (D) 50

k 1 9% A fSraes fore Yfas aHiehon I8 4x + 6y —1=0 T 2x + ky — 7 = 0 THR Y@T 90T T
(A) k=3 (B) k=2 (C) k=4 (D) k= -2

Ife sinA +sin2A =1 &, a1 cos2A + cos*A T AF © :
(A) 2 B 1 ©

(secA +tanA) (1 —sinA) T HIT U ?:
(A) tan?A (B) sin?A
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7S sec4A = cosec (A—20°),Tf|ﬁ4A@?fl FI R, d A FTHE F1 HITST
AT

1 A JTT hiTed |

5sin® — 3 cos O
5sin® + 2 cos 0

Ffe 5 tan =4

. AQ _ AR
aTmfd 3 #, PQ||CD @2 PR||CB ? | ﬁmﬁﬁmﬁQ—D =35

C

A
#pfd-3

aTpfa 4, <1 551 ABC 991 DBC U €l 2M¥R BCWR & f9H L A= ~D=90°%1 afc CA 71 BD
fog D W R fierd €, @ ST fF AE x CE=BE x DE.
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Eui 0-10 | 10-20 | 20-30 | 30-40

IRARAT 8 12 10 11

1040105 - Al




o oo il

18. Tr=fafad sfieel &1 agas T FifT |

En 0-20 | 20-40 | 40 -60

IRARAT 15 6 18
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foag ST fo 3+ /5 Tw ufee gen g
foTe o fAWTSH TERad 1 TART ik 10224 TT 9648 T HCF T HITSIT |

Ffg fgemd 9gue 22— 6x +a % o T B YRS T, dl ‘a’ 1 AF @ HIWT A 3+2p=20 T
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23. fag =ifse fw fanb Zcoth _ 20 — cot?s,

sin 6 cos 6
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24. HA5H, A ABC B B R HHKIV §, BC=7 4.1, 91 AC— AB=1 3. H. ¥| cosA —sinA & AH
1 SIS |

SHfd-5

3TMfd 6 § AABC Tsh HHSIU fAYS § 9" C I 0T € P a1 Q T Ssii CA T CB & HeA
fog §1 fog wifST % : 4 (AQ2+BP2) =5AB2.

A

Q
THRfd- 6

T& g9a ABCD H, f56H AB||IDC 8, & fa&0l w& @ &t fag O W gfa=s3 & |
Ifg AB=2 CD %, @ AAOB 9T ACOD & &=l H T4 1 hiferg |

o o

frefafEad SRaRd sied &1 7189 50 € A1 p 1 TH 14 it |

Eil 0-20 |20-40 | 40-60 | 60 -80 |80 -100
TR 17 28 32 p 19
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28. e 9o IRARAT s hl HIEFh HATd hITTT |

yr fr.am (38 9 FH(40 @ 7|42 9 %044 9 %9
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&

At
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7fg n=100 T A& 32 ¥ 1 FrAfafEd aRaRar sie § @ IRaNaT 1 i |

YTeish 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50 -60 %

10 ? 25 30 ? 10

Qug-q

U9 WEAT 29 W 34 A YAF UIT 4 3k & T

UG 30x4 + 1123 — 8242 —12x +48 ! (3x2+2x—4) ¥ 9T T qen IRom &1 e fawree
TENRed 9 Hifsa |
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Freprotfirta arfereristi & w2 fom, fefafed 1 /@ 36 i

sec 37°

————— +2cot 15° cot25° cotd5° cot75° cot65° — 3(sin218° + sin?72°)
cosec 53

HAYAT

tan 0 cot 0
fog #ifvu f& + -
1~ cot 0 1 — tan 0 1+ sec 6 cosec 0.
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g 2080 — sinh = x T cose—3sin6=y%?ﬁ fag =ifST T @ 202 + 12— 2xy =5.

ARG R S HIfSe o 1 e T I 4y —y —8=0 T 2x—3y+6=0 T &I T
@Sl qol x - 3181 g0 FfHa frge & s 9 ifsw )

fre diferent ferslt s o 100 Aol St 3T 9T &
MY (AW H) | ATl bl G&T
0-10 5

10 -20 15

20 - 30 20

30 - 40 23

40 -50 17

50 - 60 11

60 -70 9
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